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QUESTION 1

An organization uses Microsoft Active Directory (AD) for service authentication in their private cloud. They want to use
the same authentication source for services in the public cloud. External employees access services in both clouds and
need to authenticate with AD. The organization wants to minimize and secure network traffic. Which solution will
address these requirements?

A. Connect the two clouds through IPsec VPNPlace AD controllers in the private cloud only

B. Connect the two clouds through IPsec VPNPlace AD controllers in the private and public clouds

C. Configure perimeter firewalls to allow AD trafficPlace AD controllers in the private and public clouds

D. External users connect with IPsec VPNPlace AD controllers in the private cloud only

Correct Answer: B

References:

https://blogs.technet.microsoft.com/keithmayer/2013/01/20/step-by-step-extending-on-premise- active-directory-to-the-
cloud-with-windows-azure-31-days-of-servers-in-the-cloud-part-20-of-31/

QUESTION 2
DRAG DROP

You are tasked with designing a new cloud infrastructure. Match each compute related requirement with its proper
category.

Select and Place:

REQUIREMENT: CATEGORY:
Tenant and application separation must be maintained

CAPACITY
Sufficient CPU and memory to run the planned services

AVAILABILITY
Support current and future capacity

SECUIRITY
Quality of components to deliver operational performance for a
specified time SCALABILITY

Correct Answer:
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REQUIREMENT: CATEGORY:

Sufficient CPU and memory to run the planned services

Quality of components to dellver operational performance for a
specified time

Tenant and application separation must be maintained

Support current and future capacity

QUESTION 3

An organization wants to provide its developers the ability to deploy VMs. These VMs have software and libraries
installed that are used to develop applications. Each VM will be configured with the same IP address and will be able to
download application code from a central server. What will be included in the design to support these requirements?

A. VXLANSs and an OS firewall

B. VXLANSs and virtual firewall appliances

C. VLANSs and virtual IDS appliances

D. VSANs and virtual IDS appliances

Correct Answer: B

QUESTION 4

In which cloud design lifecycle phase is business value analysis performed?
A. Understand requirements

B. Plan and design

C. Implementation

D. Validation

Correct Answer: A
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QUESTION 5

You are creating a cloud infrastructure design for an organization. You learn that, for compliance reasons, the
organization needs to maintain a separate set of infrastructures for certain deployed services. Which part of the design
will be impacted by this requirement?

A. Number of compute pools

B. Number of service catalogs

C. Over-commitment ratio

D. Service catalog sizing

Correct Answer: B
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